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H, 358%, W=15cm E RO OE
H R, & BT i) E: ) =% R, » AT 5
AR AR

No. O0-11.5 No. 0+0.0 12. 2 No. O0-11.5 No. 0+0.0 10.9
No. 0+0.0 No. 1+0. 0 20.0 No. 0+0.0 No. 1+0. 0 20.0
No. 1+0.0 No. 1+12.0 12.0 No. 1+0.0 No. 1+12.0 12.0
No. 1+12.0 No. 2+0.0 8.0 No. 1+12.0 No. 2+0.0 8.0
No. 2+0.0 No. 2+16.0 16.0 No. 2+0.0 No. 2+16.0 16.0
No. 2+16.0 No. 2+19.2 3.4 No. 2+16.0 No. 2+19.2 3.0
No. 2+19.2 No. 3+2.4 3.4 No. 2+19.2 No. 3+2.4 3.0
No. 3+2.4 No. 4+0.0 17.6 No. 3+2.4 No. 4+0.0 17.6
No. 4+0.0 No. 4+8.2 8.2 No. 4+0.0 No. 4+8.2 8.2
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N

199.5




(LS R/ ) G S
( TEr%ZAR )




T M WEwET

At &

# &
WA @ Rl o B - o # |
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SRR BT T 777 Vb, t=4cm m 5.8 5.8
A RRCT A A7 E, t=4cm m2 183. 4 183. 4
EliEERR T /7Y -b, t=10cm m 0.0
Sl 2 IR A a/))-}, t=10cm m2
HudgE L TAT 7V b m3 8.3 8.3
Hfiar 27—} m3 0.0
Mo 7Y — b m3 0.0
sy TAT 7 t 19.5 19.5 |3
B t 0.0
i t 0.0
A¥t t 0.0
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A SEENE | K =4 A SEHINE | 2K = M SEINE | 2K = SR | AR =
No. 0-11.54 3.3
No. 0+0.00 11.54 2.5 2.90 33.5
No. 0+14.00 14. 00 2.5 2. 50 35.0
No. 2+3.50 2.7
No. 2+16.00 12.50 2.6 2.65 33.1
No. 2+19.21 3.18 2.5 2.55 8.1
No. 3+2.39 3.18 2.5 2.50 8.0
No. 4+0.00 17.61 2.6 2.55 44,9
No. 4+8.16 8.16 2.5 2.55 20. 8
No. 0+11.3
No. 0+14.8 3. 50
No. 0+16.8 2.00
B 75. 67 183. 40
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No. 2+3.50 ~ No. 2+6.2
No. 4+8.16 2.5
& i 5.8
o +H i 5.8




